2. Find the measure of the indicated angle,
to the nearest tenth of a degree,

a bl A
21,2 31.8
273 L c
[ 384
K B
t) bt dj
L
175 19.8 27.3

3. Solve each triangle. Round answers to the
nearest tenth, if necessary,

a) In AABC, £A =84°, £C=40", o= 56 m.
b} In APOQR, £R = 28.5%, p= 104 cm,
r=63 cm.

o) In ALMMN, #M =62°, = 169 m,

it = 15.1 m.

d) In AUVW, SW = 12300, 2V = 2227,

v=27.5km.

e} In AXNYZ AN =923 y=13.1cm,

z=28cm.

fIn AFGH, f =126 m, y=8.5m,

fi=63m,

4. Find the length of the indicated side, to
the nearest tenth.

aj

€

21 mm

e} . 5. Find the measure of the indicated angle, o
the nearest tenth of a degree.

95m

Apply, Selve, Communicate

6. Solve AABC, Round answers to the nearest tenth.

c 125em B

7. Measurement An isosceles triangle has two 5,.5-cm sides and two
32.4° angles. Find

a) the perimeter of the triangle, to the nearest tenth of a centimetre

b) the area of the triangle, to the nearest tenth of a square centimetre

B. Inguiry/Problem Solving Airport X 15 150 km east of airport Y. An
aircraft is 240 km from airport ¥, and 23° north of due west from airport Y,
How far is the aircraft from airport X, to the nearest kilometre!



14, Stikine Canyon The Stikine Canyon in central British
Columbia is often referred to as Canada’s Grand Canyvon. Two
points X and ¥ are sighted from a baseline AB of length 30 m on
the opposite side of the canyon. The angle measurements recorded
from positions A and B were ZXAY = 31.3°, ZXBY = 18,57,
LABX = 25.6° and £BAY = 27.9° Find the distance from X to Y,
to the mearest metre,

8. Application To determineg the height of the Peace Tower on
Parliament Hill im Ottawa, measurements were taken from a
baseline AB. It was found that AB = 30 m. £XAY = 42.6°,
LXAB =60, and £ABX = B1.65% Calculate the height of the
Peace Tower, to the nearest metre.

Web Connection
www.school.megrawhill.ca/resourcess
To lgarn more about the history and
cansiruction of the Parliament Buildings, visit
the above web site. Go to Math Resources,
then 1o MATHEMATICS 77, o find out where
o go nest. Write a brief report.

15. Geometry Use the cosine law to show that opposite angles in a
parallelogram are comgruent.

16, Measurement In ARST, RS = 4.9 m, 8T = 3.7 m, and RT = 8.1 m,
Find the area of ARST. to the nearest tenth of a square metre,

17. Measurement In AABC, BC =46 m, £A=422° and #B = 395

10. Ship navigation Two ships left Port Hope on Lake Ontario at the

oo I:IfJI:I-"
e, sime time. Omne travelled at 12 kmvh on a course of 235°. The other Find the ares of AABC, 1o the nearest tenth of a square metre,
e travelled at 15 km/h on a course of 1053°, How far apart were the ships
2 after four hours, to the nearest kilometre? 1057 18. Measurement Find the volume of the right prism, 15 cm
e to the nearest cubic centimetre,
235° .m
9cm 1
28.5%
11. Measurement Find the area of AXYZ, to the nearest tenth 18, Measurement Find the volume of the right prism, 14.am

A eabiae B4m
of 4 square metre. L the mearest cubic metre, B_ﬂ
10.2m ﬁ
. 16.2 m
8.5 m

20. Analytic geometry APQR has vertices P(1, 5), Qi6, =T, and

12 Euentamiien 5] Uce. the conins Jiw: by i %ty tie neamst (-2, 1). Find the angle measures, to the nearest tenth of a degree.

tenth.

b} Use the Pythagorean theorem to find x, to the nearest tenth.
¢) Explain why the two methods give the same results in a right
trigngle.
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13. Sine law in right triangles Right AABC is shown, Write cach 20uIs INq ‘.06 $09 (€°LNTG)T — €L + TS = X SAIS
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of the ratios in terms of a, f, or ¢, and

verify that for a right trangle.
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